Conic Sections - Circles and Ellipses

Name: Ke‘/

1. Find the equation of a circle with diameter endpoints )((4, 5) andéG, 1).
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Find the equation of a circle with center (5, -3) and tangent to the x-axis.
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77 3. Find the equation of a circle with center (-4, 6) and tangent to the y-axis.
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4. Find the center, radius of the circle, and graph. - 6. Find the center, radius, and graph of
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5. Find the standard form of the equation of the ellipse with a horizontal major axis of length 8 and

minor axis of length 4, center at (-1, 3) _
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6. Find the center, vertices, co-vertices, 8. Find the standard form of the ellipse,
then find the
foci, and graph of the ellipse. -center, vertices, co-vertices, foci, and graph.
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9. Write the equation in standard form. 10 Flnd the solution of the system of equations
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Conic Sections - Hyperbolas _ Name: K(M

2. Find the equation of a hyperbola with Foci (0,-3), (0,3) and Vertices (0,-1), (0, 1).
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3. Find the equation of the hyperbola below:
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4, Find the center, vertices, asymptotes, foci and graph. 5. Find the center, asymptotes, vertices, foci, and graph
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Convert the equation to standard form, then graph and find all necessary informatjon. )L(Jr«p“-‘ 0n tha next Sheet
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1. Find the equation of a parabola with focus (7, 0) and directrix x =-7.
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2. Find the equation of a parabola with focus (7, -2} and Vertex (5, -2).
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3. Find the equation of the parabola below:
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4, Find the Vertex, focus, directrix, and graph. 5. Find the vertex, focus, direc‘érix, and graph.
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Convert the equation to standar( form, then graph and find all necessary information.
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